S5860-48SC

ENTERPRISE SWITCH
ENTERPRISE SWITCH
SWITCH D'ENTREPRISE

BEBIFRA YT

Quick Start Guide
Quick Start Anleitung
Guide de Démarrage Rapide

OA v RE— FAA R



Introduction

Thank you for choosing the Enterprise Switch. This guide is designed to familiarize you
with the layout of the switch and describes how to mount it.

00000000000000000000000000000!
- =" 0.0 0:0: 0107 0105 510+ 01D [<0BY 20T

- 0.0

Accessories

AC

Power Cord x2

®

M4 Screw x14

Sliding Rail x2

$5860-48SC

Grounding Cable x1

g

M6 Screw x8

M6 Cage Nut x8

Inner Rail x2

EN



EN

DC Power Cable Set x2 Grounding Cable x1 Mounting Bracket x2
€ g =
M4 Screw x14 M6 Screw x8 M6 Cage Nut x8
o
o
E (]
Sliding Rail x2 Inner Rail x2

NOTE: 1. S5860 series switches have dust plugs delivered with them. Keep the
dust plugs properly and use them to protect idle optical ports.
2. The accessories may vary from illustration, please prevail in kind.

NOTE: This power cord cannot be used with other devices, and other power
cords should not be used with this device.



Hardware Overview

Front/Back Panel Ports

SFP+ QSFP28

Bows B0 67 (mweme) nnnnan Acnncccancacannaccaana

MGMT
|
el g
= =y

T
CONSOLE USB

|_Ports | Description

SFP+ SFP+ ports for 1G/10G connection
QSFP28 QSFP28 ports for 40G/100G connection
MGMT An out-of-band Ethernet management port

CONSOLE An RJ45 console port for serial management

A USB management port for software and configuration backup and

B
us offline software upgrade

Front/Back Panel LEDs

SFP+ QSFP28

OEOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOEOOOOOOOOOO
07 0:0¢ 0:0: 0i0 0i0v 007 O (90 2007 2007 2007 |

"‘"“!5"_ nnnnnﬂmﬁﬁﬁﬁﬁﬂﬂﬁﬂr\r\mmr\r\r\r\r\r\hmr\r\
ID
STATUS
AC
ID MGMT

M@
2)

@B& o ©

©® ®

STATUS

EN



EN

ID MGMT

Power Supply Status STATUS

| LEDs  State _ Description

STATUS

MGMT

SFP+

QSFP28

Power

Supply
Status

Off The system is powered off.

1. One of the modules of the system fails.

2. There are less than 3 fans.

3. The internal or partial temperature exceeds the
temperature limit and the switching service resets.

Solid Red

Blinking Green Initialization is in progress.
Solid Green The system works properly.

1. The temperature reaches the warning threshold.
2.0nly 3 fans are in position.

Solid Yellow
3. One of the dual powers is not connected with the
AC/DC power cord.
Off The MGMT port is not connected.
Green The MGMT port is connected at 10M/100M/1000M.
Blinking Yellow = The MGMT port is transmitting or receiving data.
Off The locator is controlled by CPLD by default.
Solid Blue The locator is controlled by O&M personnel remotely.
Off The SFP+ port is NOT connected.
Solid Green The SFP+ port is connected at 1G/10G.
Blinking Green = The SFP+ port is transmitting or receiving data at 1G/10G.
Off The QSFP28 port is NOT connected.
Solid Green The QSFP28 port is connected at 40G/100G.
o The QSFP28 port is transmitting or receiving data at
Blinking Green 40G/100G.
Solid Green The DC power is on and working normally.

Blinking Green = The DC power is present or on 12Vsb
The DC power module is unplugged or lost.
Solid Orange The switch is with a second power supply in parallel still
with a DC input power.
Blinking Orange The DC power module is working in high temperature or
over current.

Off No DC power module is connected.



Back Panel Button

|_Button _ Description

The switch will restart after you press the FUNC button for more than

FUNC
five seconds and wait for another ten seconds.

NOTE: The FUNC button of the S5860-48SC is reserved.

Installation Requirements

Before you begin the installation, make sure that you have the

following:

o Phillips screwdriver.

e Standard-sized, 19" wide rack with a minimum of 1U height available.

e Category 5e or higher RJ45 Ethernet cables, fiber optical cables, and a console cable
for connecting network devices.

Site Environment

e Do notoperate itin an area that exceeds an ambient temperature of 50°C.

o The installation site must be well-ventilated.

@ The switch should be installed at least 1U (44.45mm) away from devices to its sides.

e Be sure that the switch is level and stable to avoid any hazardous conditions.

o Do notinstall the equipment in a dusty environment.

e The installation site must be free from leaking or dripping water, heavy dew, and
humidity.

e Ensure the rack and the working platform are well-earthed.

EN



EN

Mounting the Switch

Desk Mounting

4 N

- /

1. Attach four rubber pads to the bottom.
2. Place the switch on a desk.

Rack Mounting

/

1. Secure the mounting brackets to the two sides of the switch with supplied M4 screws.



2. Attach the switch to the rack using four M6 screws and four cage nuts.

Grounding the Switch

%

1. Connect one end of the grounding cable to a proper earth ground, such as the rack in

which the switch is mounted.
2. Secure the grounding lug to the grounding point on the switch back panel with the

screw and washers.

ii CAUTION: The earth connection must not be removed unless all supply
connections have been disconnected.

EN



EN

Connecting the SFP+ Ports

1. Plug the compatible SFP/SFP+ transceiver into the SFP/SFP+ port.
2. Connect one end of a fiber optic cable to the fiber transceiver. Then connect the other

end of the cable to another fiber device.

Connecting the QSFP28 Ports

1. Plug the compatible QSFP28 transceiver into the QSFP28 port.
2. Connect one end of a fiber optic cable to the fiber transceiver. Then connect the other

end of the cable to another fiber device.

C WARNING: Laser beams will cause eye damage. Do not look into the bores of
transceivers or optical fibers without eye protection.



Connecting the Console Port

c

1. Insert the RJ45 connector of the console cable into the RJ45 console port on the switch.
2. Connect the DB9 female connector of the console cable to the serial port on the
computer.

Connecting the MGMT Port

1. Connect one end of a standard RJ45 Ethernet cable to a computer.
2. Connect the other end of the cable to the MGMT port on the switch.

EN



EN

Connecting the AC Power

« D
[
[
0
1. Plug the AC power cord into the power port on the back of the switch.
2. Connect the other end of the power cord to an AC power source.
Connecting the DC Power
e D

1. Insert the end of the power cable set with the plug into the corresponding power socket.

2. Connect the other end to the positive and negative terminals and the grounding wire

respectively.

10



WARNING: 1. Do not install the AC power cords or DC power cable sets while
the power is on.

2. When installing or replacing the power module, the ground connection must
always be made first and disconnected last.

Configuring the Switch

Configuring the Switch Using the Web-Based Interface

Step 1: Connect the computer to the Management port of the switch using the network cable.
Step 2: Set the IP address of the computer to 192.168.1.x ("x" is any number from 2 to 254).

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

O Obtain an IP address automatically
—@® Use the following IP address:

IP address: 192.168 . 1 . 2
Subnet mask: 2565 .255 .255 . 0O

(o] Obtain DNS server address automatically

—@ Use the following DNS server :

[ validate settings upon exit
o

Step 3: Open a browser, type http://192.168.1.1 and enter the default username and password,

admin/admin.

11

EN



EN

6Fs

|IE 8/9/10/11, Google Chrome, Firefox are supported

admin ‘

Step 4: Click Login to display the web-based configuration page.

Configuring the Switch Using the Console Port

Step 1: Connect a computer to the console port of the switch with the console cable.

Step 2: Start the terminal simulation software, such as HyperTerminal on the computer.

Step 3: Set the parameters of the HyperTerminal: 9600 bits per second, 8 data bits, no parity, 1
stop bit and no flow control.

Quick Connect x

Protocol:

Port: ‘ com3 v ‘
Baud rate:
Data bits:
Parity:
Stop bits:

Name of pipe: ‘ ‘

Flow Control
[ DTR/DSR
[Jrrs/cTS
[_]XON/XOFF

D Show quick connect on startup D Save session

[Jopeninatab

Connect Cancel




Step 4: After setting the parameters, click Connect to enter.

Troubleshooting

1/10G Port Is Not Working

In the case of compatible cables and transceivers, the port cannot be up, try to modify the
port mode to adapt or force the port speed to 1/10G.

Connecting the Switch Remotely Unsuccessfully

1. Test the network connectivity through ping.
2. If the network is reachable, try restarting the switch.
3. Check if the corresponding service is enabled.

The Port Is Not Working, the LED Indicator Is Off

1. Ensure the switch ports are in the no shutdown state.
2. Check if the switch can read the DDM information.

3. Check if the port speed setting is correct.

4. Try looping the switch cable.

RJ45 Port Is Not in Connectivity or It Is Erroneous in Receiving/
Transmitting Frames

1. Replace the twisted pair cable.
2. Check that the port configuration has the common working mode with the connected
switch.

EN



EN

Product Warranty

FS ensures our customers that for any damage or faulty items due to our workmanship, we
will offer a free return within 30 days from the day you receive your goods. This excludes
any custom-made items or tailored solutions.

Warranty: The product enjoys a 5-year limited warranty against defects in

materials or workmanship. For more details about the warranty, please check at
https://www.fs.com/policies/warranty.html

Return: If you want to return the item(s), information on how to return can be
@ found at
https://www.fs.com/policies/day_return_policy.html

Online Resources

For additional technical documents, visit:
https://www.fs.com/technical_documents.html

Scan the QR code to download and install the FS app from the
App Store or Google Play Store or go to
https://www.fs.com/appdownload.html

# Download on the GETITON
« App Store > Google Play




Einfliihrung

Vielen Dank, dass Sie sich fiir den Enterprise Switch entschieden haben. Diese Anleitung
soll Sie mit dem Aufbau des Switches vertraut machen und beschreibt, wie Sie ihn

montieren.

AC

Netzkabel x2

=

M4-Schraube x14

Gleitschiene x2

S5860-48SC

Erdungskabel x1

£

M6-Schraube x8

o
(]

o

Innenschiene x2

M6-Kafigmutter x8

DE



DE

DC-Netzkabel-Set x2 Erdungskabel x1 Montagebligel x2
® ¥ =
M4-Schraube x14 M#6-Schraube x8 M6-Kafigmutter x8
o
o
E o
Gleitschiene x2 Innenschiene x2

@ HINWEIS: 1. Die Switches der Serie S5860 werden mit Staubschutzkappen
geliefert. Bewahren Sie die Staubschutzkappen ordnungsgeman auf, und
verwenden Sie sie zum Schutz ungenutzter optischer Ports.
2. Bitte beachten Sie, dass das Zubehor von der Abbildung abweichen kann.

HINWEIS: Dieses Netzkabel kann nicht mit anderen Geraten verwendet werden,
und andere Netzkabel sollten nicht mit diesem Gerat verwendet werden.

Hardware-Ubersicht

Ports an der Vorder- und Riickseite

SFP+ QSFP28

1 1
[ ]
00000000 0P0

[ ]
OiEOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOEO
L0; 0,0; 5i0; 0i0v 0i0v 0,0 005 0i0% 0.0/ GGy 0iO% 0i07 0i0 005 007 OOy 5Oy 0i0; 5i0s 003 007 0107 0iOF [g0% 1007 F007 T00% |

Dm0 65

16



ID MGMT

|
@ @
B T
%> P
STATUS
SFP+ SFP+-Ports fiir 1G/10G-Verbindungen
QSFP28 QSFP28-Ports fiir 40G/100G-Verbindungen
MGMT Ein Out-of-Band-Ethernet-Management-Port

CONSOLE Ein RJ45-Console-Port fiir die serielle Verwaltung

Ein USB-Management-Port fiir Software- und Konfigurationssicherung

UsB
und Offline-Software-Upgrades

LEDs an der Vorder- und Riickseite

SFP+ QSFP28

STATUS
AC
ID MGMT
|
| ) @
B
==
STATUS
DC
ID MGMT
[
Ely

Status der Stromversorgung STATUS

DE



Aus Das System ist ausgeschaltet.

1. Eines der Module des Systems ist
ausgefallen.
2. Es sind weniger als 3 Lifter vorhanden.
Durchgehend 3. Die interne oder partielle Temperatur
rot Uberschreitet den Temperaturgrenzwert und
der Switching-Dienst wird zuriickgesetzt

STATUS
Blinkt griin Die Initialisierung wird durchgefiihrt.
Durchgehend griin.  Das System funktioniert ordnungsgeman.
1. Die Temperatur erreicht die Warnschwelle.
Durchgehend 2. Es sind nur 3 Liifter in Betrieb.
gelb 3. Eines der beiden Netzteile ist nicht mit dem
AC/DC-Netzkabel verbunden.
Aus Der MGMT-Port ist nicht verbunden.
MGMT Griin Der MGMT-Port ist mit 10M/100M/1000M
verbunden.
Blinkt gelb Der MGMT-Port sendet oder empféangt Daten.
Aus Der Locator wird standardméaBig vom CPLD
D gesteuert.
Durchgehend blau Der Locator wird von O&M-Personal remote
gesteuert.
Aus Der SFP+-Port ist NICHT verbunden.
SEP Durchgehend griin.  Der SFP+-Port ist mit 1G/10G verbunden.
+
Blinkt griin Der SFP+-Port sendet oder empfangt Daten
mit 1G/10G.
Aus Der QSFP28-Port ist NICHT verbunden.
Durchgehend griin.  Der QSFP28-Port ist mit 40G/100G verbunden.
QSFP28 ;
Blinkt griin Der QSFP28-Port sendet oder empfangt
Daten mit 40G/100G.
Dauerhaft griin Die DlC-S.tromversorgung ist eingeschaltet und
funktioniert normal.
Blinkend Griin Die DC-Stromversorgung ist vorhanden oder
auf 12Vsb
Das DC-Stromversorgungsmodul ist nicht
Status der eingesteckt oder verloren gegangen.

Stromversorgung  Dauerhaft Orange  Der Switch ist mit einer zweiten Stromver-
sorgung parallel noch mit einer
DC-Eingangsleistung.

Das DC-Leistungsmodul arbeitet bei hohe!
Blinkend Orange istungsmodul arbel ' ’
Temperatur oder Uberstrom.

Aus Es ist kein DC-Leistungsmodul angeschlossen.

18



Taste an der Riickseite

Beschreibung

Der Switch wird neu gestartet, wenn Sie die FUNC-Taste langer als

FuNc funf Sekunden driicken und dann weitere zehn Sekunden warten.

HINWEIS: Die FUNC-Taste des S5860-48SC ist reserviert.

Installationsvoraussetzungen

Bevor Sie mit der Installation beginnen, vergewissern Sie sich, dass
Sie liber Folgendes verfiigen:

o Kreuzschlitzschraubendreher

e Ein 19"-Rack in StandardgroBe mit einer Mindesthohe von 1 HE.

e RJ45-Ethernet-Kabel der Kategorie 5e oder hoher, Glasfaserkabel und ein
Console-Kabel fiir den Anschluss von Netzwerkgeraten.

Standortumgebung

e Betreiben Sie das Gerat nicht in einem Bereich, in dem die Umgebungstemperatur
50°C Ubersteigt.

o Der Aufstellungsort muss gut belliftet sein.

o Der Switch sollte mindestens 1 HE (44,45 mm) von den Geraten an seinen Seiten
entfernt installiert werden.

e Achten Sie darauf, dass der Switch eben und stabil steht, um gefahrliche Situationen
zu vermeiden.

e Installieren Sie das Gerat nicht in einer staubigen Umgebung.

e Der Aufstellungsort muss frei von austretendem oder tropfendem Wasser, starkem Tau
und Feuchtigkeit sein.

e Stellen Sie sicher, dass das Rack und die Arbeitsplattform gut geerdet sind.

DE



DE

Montage des Switches

Tisch-Montage
- N

o /

1. Befestigen Sie die Gummipads an der Unterseite des Switches.
2. Stellen Sie den Switch auf einen Tisch.

Rack-Montage

/

1. Befestigen Sie die Montagehalterungen mit den mitgelieferten M4-Schrauben an den
beiden Seiten des Switches.

20



2. Befestigen Sie den Switch mit vier M6-Schrauben und vier Kafigmuttern am Rack.

Erdung des Switches

J

1. SchlieBen Sie ein Ende des Erdungskabels an eine geeignete Erdung an, z. B. an das

Rack, in dem der Switch montiert ist.
2. Befestigen Sie die Erdungslasche mit der Schraube und den Unterlegscheiben am

Erdungspunkt auf der Riickseite des Switches.

ii ACHTUNG: Der Erdungsanschluss darf erst dann entfernt werden, wenn alle
Stromversorgungsanschliisse getrennt wurden.

21

DE



DE

AnschlieBen der SFP+-Ports

1. Verbinden Sie den kompatiblen SFP/SFP+-Transceiver mit dem SFP/SFP+-Port.
2. SchlieBen Sie ein Ende eines Glasfaserkabels an den Transceiver an. SchlieBen Sie dann
das andere Ende des Kabels an ein anderes Glasfasergerat an.

AnschlieBen der QSFP28-Ports

1. Verbinden Sie den kompatiblen QSFP28-Transceiver mit dem QSFP28-Port.
2. SchlieBen Sie ein Ende eines Glasfaserkabels an den Transceiver an. SchlieBen Sie dann
das andere Ende des Kabels an ein anderes Glasfasergerat an.

C WARNUNG: Laserstrahlen kénnen zu Augenschaden flihren. Schauen Sie nicht
ohne Augenschutz in die Bohrungen von Transceivern oder optischen Fasern.

22



AnschlieBen des Console-Ports

&

OO

o

1. Stecken Sie den RJ45-Steckverbinder des Console-Kabels in den RJ45-Console-Port des

Switches.
2. Verbinden Sie die DB9-Buchse des Console-Kabels mit dem seriellen Port des

Computers.

AnschlieBen des MGMT-Ports

1. SchlieBen Sie ein Ende eines standardméBigen RJ45-Ethernet-Kabels an einen

Computer an.
2. SchlieBen Sie das andere Ende des Kabels an den MGMT-Port des Switches an.

23

DE



DE

AnschlieBen der AC-Stromversorgung

1. Stecken Sie das AC-Netzkabel in den Netzanschluss auf der Rickseite des Switches.
2. SchlieBen Sie das andere Ende des AC-Netzkabels an eine Netzstromquelle an.

AnschlieBen der DC-Stromversorgung

1 N

1. Stecken Sie das Ende des Netzkabelsatzes mit dem Stecker in die entsprechende

Netzsteckdose.
2. SchlieBen Sie das andere Ende an den Plus- und Minuspol bzw. das Erdungskabel an.

24



WARNUNG: 1. Installieren Sie die Wechselstromkabel oder Gleichstromkabelsatze
nicht, wahrend das Gerat eingeschaltet ist.

2. Bei der Installation oder dem Austausch des Leistungsmoduls muss die
Erdverbindung immer zuerst hergestellt und zuletzt getrennt werden.

Konfigurieren des Switches

Konfigurieren des Switches iliber die webbasierte Schnittstelle

Schritt 1: SchlieBen Sie den Computer mit dem Netzwerkkabel an den Management-Port des
Switches an.

Schritt 2: Stellen Sie die IP-Adresse des Computers auf 192.168.1.x ein (,x" ist eine beliebige
Zahl von 2 bis 254).

Internet Protocol Version 4 (TCP/IPv4) Properties
General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

(Q© Obtain an IP address automatically

—@ Use the following IP address:

IP address: 192.168 . 1 . 2
Subnet mask: 255 .255 .255 . 0

(Q Obtain DNS server address automatically

—@® Use the following DNS server addr

Preferred DNS server:

Alternate DNS server: l:l

[Jvalidate settings upon exit
o]

Schritt 3: Offnen Sie einen Browser, geben Sie http://192.168.1.1 ein und geben Sie den

Standard-Benutzernamen und das Passwort admin/admin ein.

25

DE



DE

6Fs

|IE 8/9/10/11, Google Chrome, Firefox are supported

admin ‘

Schritt 4: Klicken Sie auf Anmelden, um die webbasierte Konfigurationsseite anzuzeigen.

Konfigurieren des Switches liber den Konsolenanschluss

Schritt 1: SchlieBen Sie einen Computer Giber das Konsolenkabel an den Konsolenanschluss
des Switches an.

Schritt 2: Starten Sie die Terminalsimulationssoftware, z. B. HyperTerminal, auf dem Computer.

Schritt 3: Stellen Sie die Parameter des HyperTerminals ein: 9600 Bits pro Sekunde, 8
Datenbits, keine Paritat, 1 Stoppbit und keine Flusskontrolle.

Quick Connect x

Protocol:

Port: [coma V]
Baud rate:
Data bits:
Parity:
Stop bits:

Name of pipe: ‘ ‘

Flow Control
[ DTR/DSR
[JRTS/CTS
[]1XON/XOFF

[CIShow quick connect on startup [] save session

[Jopeninatab

Connect Cancel

26



Schritt 4: Nachdem Sie die Parameter eingestellt haben, klicken Sie auf Verbinden, um die
Verbindung herzustellen.

Fehlerbehebung

Der 1/10G-Port funktioniert nicht

Falls der Port trotz kompatiblen Kabeln und Transceivern nicht hochgefahren werden kann,
versuchen Sie, den Portmodus zu andern, um die Portgeschwindigkeit auf 1/10G
anzupassen oder zu erzwingen.

Die Remote-Verbindung des Switches schlagt fehl

1. Testen Sie die Netzwerkkonnektivitat durch Ping.
2. Wenn das Netzwerk erreichbar ist, versuchen Sie, den Switch neu zu starten.
3. Priifen Sie, ob der entsprechende Dienst aktiviert ist.

Der Port funktioniert nicht, die LED ist aus

1. Vergewissern Sie sich, dass die Switch-Ports nicht heruntergefahren sind.
2. Priifen Sie, ob der Switch die DDM-Informationen lesen kann.

3. Priifen Sie, ob die Portgeschwindigkeit korrekt eingestellt ist.

4. Versuchen Sie, das Switch-Kabel in einer Schleife zu verlegen.

Der RJ45-Port ist nicht verbunden oder empfangt/iibertragt
fehlerhaft Frames

1. Tauschen Sie das Twisted-Pair-Kabel aus.
2. Vergewissern Sie sich, dass die Portkonfiguration mit dem angeschlossenen Switch im
gleichen Modus arbeitet.

27

DE



DE

Produktgarantie

FS garantiert seinen Kunden, dass wir bei Schaden oder fehlerhaften Artikeln, die auf
unsere Verarbeitung zurlickzufiihren sind, eine kostenlose Riickgabe innerhalb von 30
Tagen nach Erhalt der Ware anbieten. Dies gilt nicht fir Sonderanfertigungen oder
maBgeschneiderte Losungen.

Garantie: Fir die Produkte gilt eine eingeschrankte Garantie von 5 Jahren auf
Material- und Verarbeitungsfehler. Weitere Einzelheiten iber die Garantie
finden Sie hier:
https://www.fs.com/de/policies/warranty.html

Riickgabe: Wenn Sie den/die Artikel zurlickgeben mochten, finden Sie
Informationen zum Riickgabeverfahren hier:

https://www.fs.com/de/policies/day_return_policy.html
Online-Ressourcen

Weitere technische Dokumente finden Sie hier:
https://www.fs.com/de/technical_documents.html

Scannen Sie den QR-Code, um die FS App aus dem App Store oder
Google Play Store herunterzuladen und zu installieren, oder gehen
Sie auf

https://www.fs.com/appdownload.html

A Download on the GETITON
« App Store > Google Play




Introduction

Nous vous remercions d'avoir choisi le Switch d'Entreprise. Ce guide est congu pour vous
familiariser avec la configuration du switch et décrit comment procéder a son installation.

S5860-48SC
Accessoires
AC
Cable d'Alimentation x2 Cable de Mise a la Terre x1
® ¥
Vis M4 x14 Vis M6 x8
o
o
o
Rail Coulissant x2 Rail Intérieur x2

Support de Montage x2

Ecrou de Cage x8

29

FR



FR

DC

Jeu de cébles d'alimentation CCx2  Cable de mise a la terre x1

® g

Vis M4 x14 Vis M6 x8 Ecrou cage M6 x8
o
o
E o
Rail Coulissant x2 Rail Intérieur x2

NOTE: 1. Les switchs de la série S5860 sont équipés de bouchons anti-poussiére.
Conservez-les correctement et utilisez-les pour la protection des ports optiques
inactifs.

2. Les accessoires peuvent varier par rapport a l'illustration.

NOTE : Ce cordon d'alimentation ne peut pas étre utilisé avec d'autres appareils,
et les autres cordons d'alimentation ne doivent pas étre utilisés avec cet appareil.

Présentation du Matériel

Ports du Panneau Frontal / Arriére

SFP+ QSFP28

0000000000000 0000J000V000AQ
07 0.0¢ 6:0; 0i0; 007 007 0i0 0;05 0:0¢ 0:0% 0305 O

0:07 ©0:05




=1
CONSOLE USB

porisDesorption

SFP+ Ports SFP+ pour connexion 1G/10G
QSFP28 Ports QSFP28 pour connexion 40G/100G
MGMT Port Ethernet hors bande

CONSOLE Port de console RJ45 pour la gestion en série

Port USB pour la sauvegarde, la configuration et la mise a niveau hors
ligne du logiciel

USB

LED du Panneau Frontal / Arriére

SFP+ QSFP28

[ L 1 [ 1 1
CO000000000000000000000000C0000C00000000000000C0000000P0T000000000D0
.;.n... 50¢ 0505 050¢ 0107 0lov 0107 G:0v 0iO7 01V 007 0udS 010V 010F 010 B10% i DiOY iV 050F 010% -m%

e @0 6F G P N N N N o e W el el el W el el W W el W el e el e el e W el e W i = W el Wy s W = W

I—ID
STATUS
AC

ID MGMT

STATUS

DC

ID MGMT

4B

+1®
© ®

Etat de I'alimentation en énergie STATUS
31

FR



FR

Eteint Le systéme est éteint.

1. L'un des modules du systéme présente une
défaillance.

2. La quantité de ventilateurs est inférieure a 3.

3. La température interne ou partielle dépasse la
limite de température et le service de commutation

STATUS se réinitialise.

Rouge

Vert Clignotant L'initialisation est en cours.
Vert Le systeme fonctionne correctement.

1. La température atteint le seuil d'alerte.
2. Seuls 3 ventilateurs sont en position.

Jaune . .
3. L'une des deux alimentations n'est pas
connectée a l'alimentation AC/DC.
Eteint Le port MGMT n'est pas connecté.
MGMT Vert Le port MGMT est connecté a 10M/100M/1000M.
. Le port MGMT est en cours de transmission ou de
Jaune Clignotant ) ) ,
réception de données.
Eteint Le localisateur est contrdlé par défaut par le CPLD.
ID Bleu Le localisateur est contrélé a distance par le
personnel O&M.
Eteint Le port SFP+ n'est PAS connecté.
Vert Le port SFP+ est connecté a 1G/10G.
SFP+ i
Vert Clignotant Le port SFP+ transmet ou regoit des données a
1G/10G.
Eteint Le port QSFP28 n'est PAS connecté.
Vert Le port QSFP28 est connecté a 40G/100G.
QSFP28
Vert Clignotant Le port QSFP28 transmet ou regoit des données
9 4 40G/100G.
) L'alimentation en DC est activée et fonctionne
Vert fixe
normalement.
Vert clignotant L'alimentation DC est présente ou sur 12Vsb
. Le module d'alimentation DC est débranché ou
, _Etat de. . perdu.Le switch est équipé d'une seconde
I'alimentation =~ Orange fixe i ; Ll .
en énergie alimentation en paralléle, toujours avec une
alimentation DC.
Orange Le module d'alimentation DC fonctionne a haute
clignotant température ou en surintensité.
Eteint Aucun module d'alimentation DC n'est connecté.

32



Bouton du Panneau Arriére

@ [

o Xl o

o ©

Le switch redémarrera apres avoir appuyé sur la touche FUNC pendant

FUNC plus de cing secondes et attendu dix secondes supplémentaires.

NOTE : La touche FUNC du S5860-48SC est réservée.

Conditions d'Installation

Avant de commencer l'installation, assurez-vous que vous
disposez des éléments suivants :

e Tournevis Phillips.

e Unrack standard de 19 pouces de large avec un minimum de 1U de hauteur disponible.

e Cables Ethernet RJ45 de catégorie 5e ou supérieure, cables a fibre optique et cable de
console pour connecter les périphériques réseau.

Site de I'Installation

o Ne pasinstaller I'appareil dans un endroit ou la température ambiante est supérieure a
50°C.

o Lesite d'installation doit étre bien ventilé.

o Le switch doit étre installé a au moins 1U (44,45mm) des appareils situés sur ses cotés.
e \Veillez a ce que le switch soit a niveau et stable afin d'éviter tout risque.

e Ne pasinstaller I'appareil dans un environnement poussiéreux.

e Le site d'installation doit étre exempt de fuites d'eau et d'humidité.

e Veilleza ce que le rack et la plateforme de travail soient bien mis a la terre.

33

FR



FR

Installation du Switch

Installation sur Bureau

4 N

00060
sy

- /

1. Fixez quatre pads en caoutchouc a la base de I'appareil.
2. Placez le switch sur un bureau ou une surface plane.

Installation en Rack

/

1. Fixez les supports de montage sur les deux cotés du switch a l'aide des vis M4 fournies.

34



2. Fixez le switch au rack a I'aide de quatre vis M6 et quatre écrous a cage.

Mise a la Terre du Switch

J

1. Connectez une extrémité du cable de mise a la terre a une terre appropriée, telle que le

rack dans lequel le switch est installé.
2. Fixez la cosse de mise a la terre au point de mise a la terre sur le panneau arriére du

switch a l'aide de la vis et des rondelles.

ii ATTENTION : La connexion a la terre ne doit pas étre retirée avant que toutes les
connexions d'alimentation ne soient débranchées.

35

FR



FR

Connexion des Ports SFP+

1. Branchez I'émetteur-récepteur SFP/SFP+ compatible dans le port SFP/SFP+.
2. Connectez une extrémité d'un cable a fibre optique a I'émetteur-récepteur a fibre
optique. Connectez ensuite I'autre extrémité du cable a un autre dispositif a fibre optique.

Connexion des Ports QSFP28

000G
0.0 J000; S
200 0ie: 500 5,0 00000000005
Qi0¢ 005 070, m??,EOOOOOOOO
005 0:0;” o
‘  0:0; 007
oon

1. Branchez I'émetteur-récepteur QSFP28 compatible dans le port QSFP28.
2. Connectez une extrémité d'un cable a fibre optique a I'émetteur-récepteur a fibre
optique. Connectez ensuite I'autre extrémité du céable a un autre dispositif a fibre optique.

36



AVERTISSEMENT : Les faisceaux laser peuvent provoquer des Iésions oculaires.
Ne pas regarder dans les alésages des émetteurs-récepteurs ou des fibres
optiques sans protection oculaire.

Connexion du Port Console

O3
[

1. Insérez le connecteur RJ45 du céble de console dans le port de console RJ45 du switch.
2. Branchez le connecteur femelle DB9 du cable de console au port série de I'ordinateur.

Connexion du Port MGMT

1. Connectez une extrémité d'un cable Ethernet RJ45 standard a un ordinateur.

2. Connectez l'autre extrémité du cable au port MGMT du switch.
37

FR



FR

Branchement de I'alimentation AC

@ D

1. Branchez le cordon d'alimentation CA dans le port d'alimentation situé a l'arriére du

commutateur.
2. Branchez I'autre extrémité du cordon d'alimentation & une source d'alimentation en

courant alternatif.

Branchement de I'alimentation DC

e 0

1. Insérez I'extrémité du cable d'alimentation avec la fiche dans la prise de courant

correspondante.
2. Connectez l'autre extrémité aux bornes positives et négatives et au fil de mise a la terre

respectivement.

38



WARNUNG: 1. n'installez pas les cordons d'alimentation CA ou les jeux de cables
d'alimentation CC lorsque I'appareil est sous tension.

2. Lors de l'installation ou du remplacement du module d'alimentation, la
connexion a la terre doit toujours étre effectuée en premier et déconnectée en
dernier.

Configuration du Switch

Configuration du switch a I'aide de l'interface basée sur le Web

Etape 1 : Connectez l'ordinateur au port de gestion du commutateur 3 l'aide du cable réseau.
Etape 2 : Définissez I'adresse IP de l'ordinateur sur 192.168.1.x (« x » est un nombre
quelconque compris entre 2 et 254).

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

—@ Use the following IP address:

IP address: 192.168 . 1 . 2
Subnet mask: 255.255 .255 . 0

(Q Obtain DNS server address automatically

(@ Use the following DNS server

Preferred DNS server: l:l
Alternate DNS server: l:l
[ validate settings upon exit

Etape 3 : Ouvrez un navigateur, tapez http://192.168.1.1 et entrez le nom d'utilisateur et le mot

de passe par défaut, admin/admin.

39

FR



FR

6 Fs

IE 8/9/10/11, Google Chrome, Firefox are supported

admin ‘

Etape 4 : Cliquez sur Login pour afficher la page de configuration basée sur le web.

Configuration du switch a I'aide du port de console

Etape 1 : Connectez un ordinateur au port de console du commutateur a I'aide du cable de
console.

Etape 2:Lancez le logiciel de simulation de terminal, tel que HyperTerminal, sur 'ordinateur.

Etape 3 : Définissez les paramétres de I'HyperTerminal : 9600 bits par seconde, 8 bits de
données, pas de parité, 1 bit d'arrét et pas de controle de flux.

Quick Connect x

Protocol:

Port: ‘ COoM3 v ‘
Baud rate:
Data bits:
Parity:
Stop bits:

Name of pipe: ‘ ‘

Flow Control
[C]DTR/DSR
[JRTS/CTS
[C]XON/XOFF

[C1Show quick connect on startup [] save session

[JOpeninatab

40



Etape 4 : Aprés avoir défini les paramétres, cliquez sur Connect pour entrer.

Dépannage

Le Port 1/10G ne Fonctionne pas

Si le port ne fonctionne pas avec des cables et des émetteurs-récepteurs compatibles,
essayez de modifier le mode du port ou réglez la vitesse du port sur 1/10G.

Connexion a Distance du Switch sans Succés

1. Testez la connectivité du réseau par ping.
2. Si le réseau est accessible, essayez de redémarrer le switch.
3. Vérifiez si le service correspondant est activé.

Le Port ne Fonctionne pas, I'Indicateur LED est Eteint

1. Assurez-vous que les ports du switch sont dans I'état "no shutdown".
2. Vérifiez que le switch peut lire les informations DDM.

3. Vérifiez que le réglage de la vitesse du port est correct.

4. Essayez de boucler le cable du switch.

Le Port RJ45 n'est pas Connecté ou la Réception/Transmission de

Trames Présente des Erreurs

1. Remplacez le cable a paires torsadées.

2. \érifiez que la configuration du port est dans le méme mode de fonctionnement que le

switch connecté.

a1

FR



FR

Garantie du Produit

FS garantit a ses clients que tout article endommagé ou défectueux en raison de sa
fabrication pourra étre retourné gratuitement dans un délai de 30 jours a compter de la
date de réception de la marchandise. Cette garantie ne s'applique pas aux articles
fabriqués sur mesure ou aux solutions personnalisées.

Garantie : Le produit bénéficie d'une garantie limitée de 5 ans contre les défauts
matériels ou de fabrication. Pour plus de détails sur la garantie, veuillez
consulter la page suivante
https://www.fs.com/fr/policies/warranty.html

informations sur les modalités de retour a la page suivante

@ Retour : Si vous souhaitez retourner un ou plusieurs articles, vous trouverez des
https://www.fs.com/fr/policies/day_return_policy.html

Ressources en Ligne

Pour obtenir d'autres documents techniques, visitez :
https://www.fs.com/fr/technical_documents.html

Scannez le code QR pour télécharger et installer I'application FS
depuis I'App Store ou Google Play Store ou accédez a
https://www.fs.com/fr/appdownload.html

CA Download on the [clagigel]
« App Store > Google Play




A>orafoay
COEIX.COTEMMITRAIYFES RV IEE,

HICHODESTEVET,COATRIF R
AVFOLATIMIBN RY ST —IICRAYF e BEA T2 EEZHHT 3720 DHD T,

I 0 O B DU B
N A

S5860-48SC

ERI—Rx2 T—=247 =TIl x1 B 757 vbx2
@ .
= =
S| =i
M4z Tx14 M6 X8 M6 —Fwhk x8
o
o
g o
21 RL—)Lx2

A>F—L—Ix2

43

JP



JP

DC

DCERT—TIL vk x2 T—R7—=7I)Lx1 BS54y x2
© N
® E
M4z x14 M6% < x8 M6 —F vk x8
(]
(]
E o
ZS51RL—ILx2 A>F—L—ILx2

3E:1.S5860 ) —XRAYFICIGFR RN TS OHERESNTOWE T AR NS J 18
PURE L. 71 RIVREDA T T DILR— b2 RET B OICERL TR TV
2. 7O I—I3ASANCRBIGZENHDEFTDT. HE5NLHT TAELTE S,

A COBRI—FIZMOERBICIIERTETEEA, £, HOERI—FIFID

BEBICERALBVTIESL,

N—FITT7HE

7

A> ;NI NRIVK—

SFP+ QSFP28

[
OiEOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOi%OOOOOOOOOOO
05 00¢ 0i0: 0i0: 007 0.0V 0i0% 0105 0,04 DiO% 0i0 0LO7 0iDy 007 O:0% 0i0% 0i05 0:05 0iOs 0i05 0iOF 907 007 =007 0|

IO P | R N N N A e W N W W e e W e W W W WS W

a4



=

o ©

CONSOLE USB

SFP+ 1G/10GH#E K ASFP+R— bk
QSFP28 40G/100G#E#KFQSFP287R—
MGMT A —H Ry MEER—

CONSOLE SUTIVEEARIAS DY —ILR—bk
VINITTEAYTAFaL—23> DNV I TV T ELVF TSV TD

use VIR Ty F L — REOUSBEEAR—

78> 8Ny INFRILLED

SFP+ QSFP28
1 1
OIOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOIOJOOOOOOOOOLO
.1!’.‘.... 5.5 0,04 0i0¢ 0i0: 0405 0107 G107 i6s 010+ 610% 04Dy 107 0105 G10v 0I5+ 0B 5103 0108 0% 0106 G164 Bibs [7GT 00T F05T TOOY |
:ﬁ
Qe 6F EEm) R N N A N e N N e e N e W N S e e W W S e W W W=
ID
STATUS
AC
ID MGMT
|
- [ ©
B =2
=! % -5
STATUS
DC
ID MGMT

+1®
© ®

&

————
@
&)
oo
EalC

BIRKRE STATUS 5

JP



JP

JHAT ST LOEFEIMINTNS,
1. PRFLDED2—ILO—DhEE LT
2. 773U EH B,

F=UT (77) N e e _ N
3. NERRTCIFER D BV R BED IR BEE B X (v F I
—EZXD Uty hEINB,
STATUS =i (%) EA R,
=T (1) 2T LIFERICHEEELTUS,
1RENEELEWVMEISELT.
e 2. Tﬁaﬁf&‘:&a>c:tat;o®77jzbf;\b\7txb\o
3. Fa7IVERO—AHAC/DCEFEI—RTEHE TN TV
(AN
SHIT MGMTR—bAEF SN TLVARL,
MGMT  £24T (k%) MGMTZR—ki£10M/100M/1000M THEHE SN T WL\ B,
R () MGMTAR— T —2ZREHIEZEL TV,
D SHAT O —2—I3774)L N TCPLDIC K> THIf TN B,
24T (H) O7 —2—|30&MIBHENRMIZIETIVMO—ILT B,
JEIT SFP+R—bhAEF SN TLZRL,
SFP+ ST () SFP+R—ME1G/10GTEF TN TV S,
R () SFP+R—ME1G/10GTT —2EXZEL TV S,
JHAT QSFP287R— kANt TN T ULV,
QSFP28  &UT (18) QSFP287R— M F40G/100G TR IN T L\ B,
R () QSFP287R— K &40G/100GTT—REEZ(EL T3,
=T (1% DCERIFA VT ERICEELTVED,
R (%) DCERIFMHAINTVB D 12Vsb TEEL TV E T,
—— DC%*JJE?E_*‘/“:L—)Lb‘ﬁﬁéﬂ\’t‘(b\?@b\b\ 9&1\3*1‘( L\i‘d'o_
RN BT (1) 24y FIZIF DCAANBREIMER SN TVSRET LFIC
2OHOBEREMNEHRINTUVET,
SR (1) DCEREV2—IHIEBREITBERTHELTLET,
SHIT DCEREZa—IMNERINTLEEA.

46



Ny I NRIRE

® B — |
=g
o Tk ool

5
FUNC FUNCREZ> 25 L B L. S5IC10M RO X1y F O BIES L £,

%1 $5860-48SCOFUNCRA EFAFEATT,

TOA—IVEH

A= ZRIET BHEIC. UTOZEZREL TS L,

o FIRRSAN—,

o 1UNEDBENFIARIREBIZET A D11V FIBDS Y,

o XYNIT—UFNAREHEHEKT DIHDHTI5eFIETNULDRIASA —H Ry Mr—
TINHTF7ANT—=IN A==,

RERIR

o [FEEIRENS0°CEZBRBZHPATIIEALAEVTIIZEL,

o REBMIITDICHIATILELNBDET,

o XAYFIITNAZDSRAEETHHEDIU (44.45mm)BEL TRE T 2R ED'HOF
ER

o BIRARREEITZIDICAIYFHKETRELTVNSZ EZRERL TS,
o [FIDDBZVERIRICKBEZRELBVTIIEE L,

o FREBAIZ.KHBN KB REEIEIDOBVESICLTIIEE L,

o SYULIEETSYRIA—LDHRICT—IAENTVB T 2R L TE T,

a7

JP



JP

A1y FOEDFIT

TRAIIUV bk
4 N

- /

1 EIC4DD I L/NY RZERD[IF &,
2. A1y F D LICBEET,

A4V

1L AEROMAR D= ERALTBONIT ISy bRy FORAICEEL £,

48




2. 4KDM6R T LADDT —UFy b eEAL T Ry FEZ v IICBRO[IT £,

Ay F O

%

1 ##r — I O—tH%E X1y FHBOMHIFT5NTVNE Sy IR DB AT —RICER L&

ED
2. 72Ty —%BRAL U T—RIVZZ1YF DN NI HBEMAA 2V MMIEE

LED

Ai AR INTOEREGATIM SN TUORVRD, 7—REFZIROA ST BVTEE
LY

49

JP



JP

SFP+R— bk DIEH:E

1. M D3 BSFP/SFP+h5 > —/N\—%SFP/SFP+R— MIZELAH T,
2. HITFANT—=TIND—E T 7N = N—ITEHGELET RIS T—TILDB5—H
DIFERDT7ANTNA RUEFHLET,

QSFP287R— k m##t

1. EiM D% 3QSFP28~ 5> —/N\—%QSFP28R— M ZLIAH T,
2. HTFANT=TND—ET AN —N—ITEHLET RIS T —TILDHS5—F
DIFERDT7ANTNA REFLET,

50



D

.
=K

A

L—H—NiRIZB BB E 5 X3RN HD LT, BZREL TICKT >
—N=RHTT7ANDNEIREIAFRNTLEEL

aAYY—ILR— bDES
O~
Ollp

1. VY=L r—TILDORIAS AR IR %E XA YFDRIAS A —IL R—MIELAAFT,
2. A=W —=TIDODBIAR AR IRZZAVE2A—R—D I TILR—MIERLET,

MGMTHR— bk Dk

1. BEDRIASA — YRy M =TI O— iz A Ea—RIHEHRLET,
2. 7= DH5—FHDiFE R Y FDMCMTR— ML F T,

51

JP



JP

ACERD#ER:

p
b
9
0
0

\_
LACERI—RERMYFOE@EICHIBRER—MMIELAAHET,
2. BREO—RDHS5—ADIHEACERICERLET,
DCERDIERE

e D

1L 7SN EBRT—IINOlnERET2ERY TV MIELAZET,
2. H5—HDHEETNETNT S RGEF XA F AT T—RIRICERLE

52



A ZE 1L BRIASTVSHIZACERI—RPDCERT —JIL 2y IO T4
WTLTET LY,
2. BREDa—ILOEDFTPRIEDEIG Y T —REFZ RAIATV RRICH
FRIICLTLIES LY,

A1 YFDHRE
JIITR=RAVA—=T T —ADS5DHRE

Step Lixy h =07 =D EFERALTIAYE2—2E XM yFOEER—MIERLED,
Step 2: AVEa2—ZDIP7RLZA%192.168.1.x] ( [x11F2~254DERDEF) ICRELF T,

Internet Protocol Version 4 (TCP/IPv4) Properties
General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

—@ Use the following IP address:
1P address: [z 166 1 .2 |
Subnet mask
Defoult gateway: - ]

(Q Obtain DNS server address automatically

@ Use the following DNS server

Preferred DNS server:

Alternate DNS server: l:l

[ validate settings upon exit
o

Step 3: 75 UHHEBAE, Mhttp://192.168.1.11% AN L. T 7L b D 1—H—%Tadming &/¥
27—RTadminiZAALEY,

53

JP



JP

6Fs

IE 8/9/10/11, Google Chrome, Firefox are supported

Step 4:TLogini &0 v g 3L VT TR—ADFER—IHERRINET,
a2V —ILR—kH5DEE

Step 1: AV =T —JNZFRL T IYE2—R Ry FOIAY —)LR— b EERLET,

Step 2: > Ea—% ETHyperTerminalZR E DR ZaL—>3> VI Ic 7 ZESH L E T,

Step 3:HyperTerminal /NS X—2%HE L £ :9600E Y M. 8T —REY M NUT1% L1
ZAbyZFEyh 7O0—HEELICRELEY,

Quick Connect x

Port: [coms ]
Baud rate: 9600 v Flow Control
DTR/DSR
[CJRTs/CTS
Y one e [_]XON/XOFF

Name of pipe:

[CIshow quick connect on startup

[] save session
[Jopeninatab

Connect Cancel

54




Step 4:/NFRX—BR%EFE LT=5. [Connecti =V )y I LTERLET,

SIS a—Ta27

1/10GR— FH'EEL XL

BEMOBHZIT—TIRES Y —N—TR— R TERVEEIE R—FE—RZZEEL

THEIGSE R R—MREZREIATIC1/10GICLTIE S,

21y FO)E— MEENS T VHAEL

1. ping TRY NI —UDFFMETANLET,
2. 2y T —=O|CBETERH I ATy FOBEESZEFH LISV,
3. MW B —EZADBMI B> TVNEIHESH ZRERLET,

R—rDBEET. LEDA VS —a2hNEITLTVS

1 RAYFR=bD/ =2 vy b AU IRETH B E 2B LET,
2. 21y FH'DDMBR ZFHABMNBI N ESHERRLETo

3 AR—FRE—ROBRENELVHESHEEERLTIEE L,

4. ZAYFT—TNEIN—TEETH TS,

RJASR— FHHERINTVRVLD. TL—LDRE/XEISROHH
%)

L YARMRT T =TI e LTEEL,

2. R=hDAYVT4FaL—2a M BREINTUVB RV FEHBOBEE—RTHZLE

HERRLTET L,

55



B mmfRalE
FSTId. B DBEERMTIC LB WIBPARRICOVWTII BmESZITEDICHE-7=BH530

AUATH NS EH TRBZED T L. CHUIZARZLEEP T —H— AT FIFE &
nEtAo

T RAEDFMICDOVWTIE XD Y hTTRESRE LN
https://www.fs.com/jp/policies/warranty.html

B RGULIEVIEEIFORRFAEICETBERNIROT A MMITELLZETL
https://www.fs.com/jp/policies/day_return_policy.html

fREE: CORMIT MR ETIZEE DRI L TSFEBORERIEZRELE

T4 —R

FOMDILMTERHIDOWVWTIE FEEDURLE ZBRIZEL,
https://www.fs.com/jp/technical_documents.html

QRIO—R%Z&EEHED. App StoreF7zldGoogle Play Storeh 5FS77 1)
ZAIYO—RLTAYZAM—ILT BN
https://www.fs.com/jp/appdownload.html

ICT7TEALTLIEE L,

A Download on the [clagigel}
[ App Store > Google Play

Q.C.PASSED

56 Copyright © 2025 FS.COM All Rights Reserved.



